/DVIRB

*UXSD 5R]N&DG 535

7\J

3Q

&]

3w

VRERWD

7\6]

(ZIGHQFID L IRTIF]DQH
IXQGXV]\

XQUQ\FK 3RT\VNLZDQIH
IXQG UZ = RIQD %HDID
=0 535 =

7N
(ZIGHQFID L IRTIF]DQH (ZIGHQFID L IRTIF]DQH
IXQGXVI\ IXQGXV]\
XQUQ\FK 3RT\VNLZDQIH XQUO\FK 3RT\VNLZDQIH
IXQG UZ = RIQD %HDID IXQG UZ
=0 =0
.20387(52: % .20387(52: %
535 = 535

7N

6HPLQDUXP GU 64\V]
S$IHNVDQGHU =%

6HPLQDUXP GU 64\V]
S$IHNVDQGHU =%

535 = 535
7\6]

(ZIGHQFID L IRTIF]DQH (ZIGHQFID L IRTIF]DQH

IXQGXVI\ IXQGXV]\

XQUO\FK 3RT\VNLZDQIH XQUO\FK 3RT\VNLZDQIH

IXQG UZ 3RT\VNLZDQH IXQG UZ

IXQGXV]\ XQUQ\FK GID =0

063 = RIQD %HDID =%
535 z

7\J

-DURVIDZ =%
535 -

7\J

6RFIRIRJID Gz GU
5RG]IN -DURViDZ =%
535 z

NG]IHE  JDIHFLD

7\J

= \NiDG GR Z\ERIX ]
G %UIQHY (ZD =%
535 =

6RFIRIRJID Z GUSRG]IN

7\J

3R]RVIDH QDIHTQRGFL R

535 z

7\

2SiDI\ SXEIF]QRSUDZQH

PJU *CEND . DURIQD =%

.20387(52:%
535 =

7\G]

2SiDI\ SXEIF]QRSUDZQH

PJU *CEND . DURIQD =%

.20387(52:%
535 =

7\J

= \NiDG GR Z\ERIX ]
G %UIQHY (ZD =%
535 =

=DICFID Z  INJRGQLX

7\6]
3R]RVIDH QDIHTQRGFL R
FKDUDNIHUTH SRGDINRZ\P
PJU*CEND .DURIQD =%
.20387(52:$
535 =

FKDUDNIHUJH SRGDINRZ\P
PJU*CEND .DURIQD =%
.20387(52:%

7N
= \NiDG GR Z\ERIX ]
G %UIQHY (ZD =%
535 =

7\6]
3R]RVIDH QDIHTQRGFL R
FKDUDNIHUTH SRGDINRZ\P
PJU*CEND .DURIQD =%
.20387(52:$
535 =

7\G]
3R]JRVIDiH QDIHTQRGFL R

FKDUDNIHUJH SRGDINRZ\P

PJU *CEND .DURIQD =%
.20387(52:%
535 =




